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fT 

             =2 f 

        

           

1gS.H.M2mm28000m/S
1.2mm

 

 

x=A 

a= 2x 

a= 2A 

8000=2x10-3 2 

2=8000/0.02=4x106 

3S-1 

T=2 (m/k)1/2=2 / =2 /2x103 

T= x10-3=0.00314S 

f=1/T=1000/ =318.31Hz 

Vmax= A=2x103x2x10-3=4m/S 

V1.2mm= [(k/m)(A2-x2)]1/2=  (A2-x2)1/2=2x103[(2x10-3)2-(1.2x10-3)2]1/2 

V1.2mm=32m/S 
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F=-kx 

2=k/m 

k= 2m=4x106x1x10-3=4x103 

F=4x103x1.2x10-3=4.8N 

 

F=-4x103.x      

t 

F=kAcos t 

F=4x103x2x10-3cos2x103t 

F=8cos2x103t 

1kg10cm
2kg8cm

 

2kg 

                      F=-kx 

                      k=F/x=mg/x=1x9.8/10x10-2=98N/m 

                      T=2 (m/k)1/2=2 /  

                      T=2 (2/98)1/2=(2 /7)=0.9S 

                      Vmax= A=(2 /T)xA=7x8x10-2=0.56m/S 

                      amax= 2A=72x8x10-2=3.92m/S2 

                      V4cm= (A2-x2)1/2=7[(8x10-2)2-(4x10-2)2]1/2=0.485m/S 

                      a4cm= 2x=72x4x10-2=1.96m/S2 

                      x=Acos t 
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                      4=8cos7t 

                      (4/8)=cos7t 

                      0.5=cos7t 

                      cos-1(0.5)=7t 

                      ( /3)=7t 

                      t= /21=0.15S    

0.5kgSHM0.1S10cm
5cm 

 

a= 2x 

a=(2 /T)2x=(4 2/0.01)(5)=19739.21cm/S2 

F=ma=500(2000 2)=59.22dyne 

F=-kx=mx 2=(4 2/0.01)(500)(5)=59.22dyne 

Ek=0.5m 2(A2-x2)=(0.5)(500)(4 2/0.01)(102-52)=74022033.01erg 

Ep=0.5kx2=0.5m 2 x2=(0.5)(500)(4 2/0.01)(52)=24674011.003erg 
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2/t+x=Asin(t=0
a,v,x 

 

t=0 

 x=Asin( x0+ /2)=Asin(90)=A 

 x=Asin( t+ /2)=Acos( /2) sin t+ Asin( /2)cos t 

 x=Acos(0)sin t+Asin(90)cos t=0+Acos t 

 x= Acos t 

 v=(dx/dt)=-A sin t 

 a=(d2x/dt2)=-A 2cos t 

 

 
 

 
 

 

 
 

 
 

 

 
 

 
 

 
 
 

 
 


